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Which sentence is correct?

1. | like apple more than orange.

2. When | lived in that town, | saw less
men in the park.

3. Can you please tell to my mother and
father call me soon?

4. We learned irregular comparative and

superlative adjectives.



The old mechanic ....................... the car while

his wife and daughter ........................... dinner

for the party.

o=

was fixing _ cooked
fixed _ was cooking
was fixing _ were cooking

was fixing _ was cooking



Because of the high price, more and more
families became interested ............... buying

oo Old @partments last year.

in _ himself
at _ themselves

in _ themselves

o=

to _ them



This nice family helped him a lot on his trip
to that country. He doesn't know how to

vereeemn. NiS thanks to them.

1. narrate

2. express

3. pass away
4. puton



Everybody knows we had a car accident

yesterday; the news .................... fast!
1. got around
2. got back
3. was publishing
4. publish



This school is among the best schools in
Iran. It's really like a ............... for many

students and their families.
1.  Flight
2. Culture
3. paradise

4. nation



Cloze

Mr. Roger is really a creative person. He is a farmer,
but he has studied a lot about ecotourism. He made
a tourist .............A.......... near his village some years
ago. This way, tourists will go to the forest less, and
it will stay clean. Not only you can remember
...B........ of being a child there, you can

...Cuucueewe.... different natural fruits from the garden
and carry them home too. You can visit the old house
in the farm and there are a lot of old or interesting
things - even a ..........D........... for babies and some

animals in one part of the farm for children to watch.

A.

1. destination

2. creation

3. pronunciation

4. comprehension



Cloze

Mr. Roger is really a creative person. He is a farmer,
but he has studied a lot about ecotourism. He made
a tourist .............A.......... near his village some years
ago. This way, tourists will go to the forest less, and
it will stay clean. Not only you can remember
...B........ of being a child there, you can

...Cuuueen.... different natural fruits from the garden
and carry them home too. You can visit the old house
in the farm and there are a lot of old or interesting
things - even a ..........D........... for babies and some

animals in one part of the farm for children to watch.

B.

1. put out
2. seek
3. sense

4. pass away



Cloze

Mr. Roger is really a creative person. He is a farmer,
but he has studied a lot about ecotourism. He made
a tourist .............A........... near his village some years
ago. This way, tourists will go to the forest less, and
it will stay clean. Not only you can remember
...B........ of being a child there, you can

..Cuuueeen.... different natural fruits from the garden
and carry them home too. You can visit the old house
in the farm and there are a lot of old or interesting
things - even a ..........D........... for babies and some

animals in one part of the farm for children to watch.

C.

1. save

2. collect
3. destroy

4. take care of



Cloze

Mr. Roger is really a creative person. He is a farmer,
but he has studied a lot about ecotourism. He made
a tourist .............A.......... near his village some years
ago. This way, tourists will go to the forest less, and
it will stay clean. Not only you can remember
...B........ of being a child there, you can

..Cuuueeen.... different natural fruits from the garden
and carry them home too. You can visit the old house
in the farm and there are a lot of old or interesting
things - even a ..........D........... for babies and some

animals in one part of the farm for children to watch.
D.

1. cradle
2. future
3. tense

4. schedule
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